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UNIT - |
] {a}  What operation manager do ? Discuss management procoss,
=
(b} What is productivity? Monthly sales date for a particnlar
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A local huilding penducts stgre has acoumulated sales dada
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Develap a Bpear regvession maodel for these data and determime
the strength of the lineay velationship using corvelation,
If the madel appeara to be eelatively strong, determine the

fovecast for lumber given ten building permits in next
rarter,
&

UNIT - II

—_

A manufacturer has the following infarmation on 118 major
g
Hegular time production eapacity = 2600 wns/period
Cheertime prodocthion costs = Rs, 13anil
Inveniory costs = Hs. 2 umit/period
Backleg costz = Ks. Shunits/period
Beginning inventory = M0 unils

Demand (n wogts) for pervod 1.2,3,4 15 000, 3200, 2000
and 2800 rvespectively. Develop a level output plan that
yviglds 2org viventore at Blae end of prangd 4 What eosts pesali
from this plant?

H

What are the advantages and disadvantages of product

EVSLE aVOT prvesd aysabemn?
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L
The annual eel dada of an enlecpese o the year 20005-060
are as {ollows :
Fisedd ¢ost = 5,000,000
Annual gnles volume = 15,800,000
Iinput vamable cost per uait Bs. 25
Umit sales price R, 150
Deterniine (i) Break even pant (i) Bs. 1500000 w1l be
Gken hkely sples volume for the next |'|u||-:|_;-|_"| perisd. Caloulate
the estimated eontrvibution avnd profit. ik 1F a profit tarsel
af Ka, 70000000 has been bawcdge ted conepanie thie sales volume
roquired,
H

How the capacity 1= deline and measure? Discuwss differen
steps of capacity planning process,
444

UNIT - 111

Discnss the abjective ol production planning. Discuss differvent.

planning hanzons.
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Complete the following MRP matrix for jtem X
ltem X LLC 1 s
_f..'I‘: 2 Led maze - min B0 | 1
Lrmoss requirement | 20
Scheduled  receipts

:i. Projected on hand (40) |
Met reqguirement
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Flanned prder reeeipte
Plavned order releases l 1

In what perioda should ordere be releasod and what should
be the =ize of these orders?

i
R

What are the objectives of an MHEP system? What ae
limitations of MEP?

o 8
Describe the suipot of aggvegate production planning. How
1= the aguregate planning process diffevent when vsed for
services rather than for manufactoring?

F45
UNIT - IV

List severnl alternatives For adjusting capacity. List various
alternatives for managing demand.

f+4
Clean and shine car serviee has five enrs waiting to be washed
and waxed The time veguived (in nun) for cach activity is
mven below, In what order should the rars he | R s ]
Lhrivugh the facility? Whes wall the hatel of cars be e napelofogd
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4 tab Ay Ham Navesh has sx jobs waiting to be processed throuih
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his machive. Processing time {(in davs) and dee  date
ilgrmation for cuch job are as follows -
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Job | Processing time| Due Date |
B 4 3
& I 1 z 2

| C 4 12
D 3 h I
E 1 8 |
F B 12

Sequence the johs by FCFS, BPT. SLACK and DIDATE.
Calculate the averags |,"I!|I;1i[:||.E-I':iI_'I:||_ trmie and pverage tariiness
of the gix joks under pach sequencing rule. Which mle would
you regormend?
12
Tharuss dispatching and expediting functions.
4

UNIT - V

Distinguish between a fixed ovder guanhity sysiem and fised
time period systems and give an example of each.

i
Fleptronic village stocks and sells a parficuiar brand of
mohile. [Eeosts the store Bs. 4500 each time it places an ovder
with the manufacturer for mobile, The annwal coet of caveving
the mobite in inventory s Rz 1704, The store minvager
calimates 1hat the annual demancd will b 1Z2HE mmls,
Determine the optimal srdey quantity and the tofal T
inventory cost.

b

O

What is material management? What are different ohjectives
af it? Discuss matevial Mow with suitable disgram.

2+A+3
A manufacturing fum has been offered a partecular coupanent
part il uses accopding o the Tolbvwing dizcount pricing
sehedule provided by the supplier

Comporeit port i [hsconnt (in Hs) |

1-109 ' G5
2001-501) 534
600 + 6

The manafacturing company uses 00 of the components
annually, the annual earrying cost 15 Ha 14 per wiskf, s
the ordering cost is Hs, 275, Determine the amount the Dirm
should order.
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